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QUESTION 1

What are two components of a class-of-service (CoS) switching configuration? (Choose two.)
A. forwarding tables

B. bandwidth

C. port speed

D. forwarding class

Correct Answer: BD

QUESTION 2

Your SAN team must transmit FC between multiple locations in a data center. To keep the cost of the project to a
minimum, your management decides that using FCoE would be the most cost-effective approach.

In this scenario, which architecture will support FCoE losslessly?
A. Layer 3 Clos

B. Virtual Chassis

C. Virtual Chassis Fabric

D. VXLAN overlay

Correct Answer: C

QUESTION 3

You are designing an IP fabric using IBGP as your underlay.

In this scenario, which statement is correct?

A. Confederations are not allowed in an IBGP IP traffic.

B. Route reflectors should be implemented on your spine devices.
C. IBGP ensures that traffic will be load balanced by default.

D. You must ensure that you have a full mesh with all devices.

Correct Answer: B

QUESTION 4
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Which two statements about heating and cooling design are correct? (Choose two.)
A. All devices in a rack should be installed so that the port panels are on the same regardless of the air flow direction.

B. All devices in a rack should be installed so that the air flow is in the same direction regardless of the port panel
location.

C. In the hot-aisle/cold-aisle design, air enters through vents in the hot-aisle and exists through cold-aisle vents.
D. The hot-aisle/cold-aisle design maximizes the cooling potential of the air conditioning system.

Correct Answer: CD

QUESTION 5

Which two statements are true about IP fabrics? (Choose two.)

A. IP-based applications do not require an overlay network to maintain connectivity.

B. Applications that require security needs an overlay to provide the security.

C. Applications that require Layer 2 adjacencies require an overlay network to maintain connectivity.
D. IP fabrics can natively support both Layer 2 and Layer 3 applications.

Correct Answer: CD
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